On the Miura map for discrete integrable systems

This article has been downloaded from IOPscience. Please scroll down to see the full text article.
1996 J. Phys. A: Math. Gen. 292861
(http://iopscience.iop.org/0305-4470/29/11/020)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.70
The article was downloaded on 02/06/2010 at 03:53

Please note that terms and conditions apply.

# On the Miura map for discrete integrable systems 

S Palit and A Roy Chowdhury<br>High Energy Physics Division, Department of Physics, Jadavpur University, Calcutta 700 032, India

Received 9 November 1995


#### Abstract

Gauss decomposition of the Lie algebra has been used to derive the Miura map for discrete completely integrable systems, which exactly reproduces the results obtained in a recent paper by Yang and Schmid. We have dealt with the cases of discrete mKdV, discrete sine-Gordon, discrete KdV and the Volterra system. Our approach has the advantage of yielding the Lax pair for the modified equation. It can also lead to a second stage of modified equation if the same procedure is repeated twice.


## 1. Introduction

Integrable nonlinear equations possess a very elegant property that sometimes a nonlinear transformation of the dependent variable may lead to another integrable system. The oldest example of such a transformation is the famous Miura map which connects the KdV equation to the mKdV equation. Such transformations have the potential of generating non-trivial solutions from trivial ones. Various methods have been suggested to derive such a mapping for different cases such as the KdV equation [1], the mKdV equation [2], the nonlinear Schrödinger equation [3], the Toda lattice [4], the discrete nonlinear Schrödinger equation [5] etc. Although a general framework has been set up for the continuous case, detailed analysis of the discrete equation is not available in the literature. Recently it has been shown by Yang and Schmid [6] that an extension of the methodology of Chen [7] can lead to a unified approach to the problem of Backlund and Miura maps for discrete integrable equation. On the other hand, a few years ago Dodd [8] introduced the idea of using Gauss decomposition of the gauge transformation of the Lax pair to derive the Miura map and Backlund transformation. He showed that such a procedure can lead to intermediate equations which are new integrable systems and, in the process, one discovers the Miura map. This procedure is, in fact, the matrix analogue of the factorization of the Schrödinger problem in the KdV case. Here in this communication we show that one can adopt the Dodd's procedure even in the case of discrete integrable systems, such as the discrete KdV , mKdV , sine-Gordon etc. It is shown that almost all the results obtained in [6] can be reproduced and, in addition, we are able to write down the Lax pair of the modified equation itself, which was not done in [6]. Furthermore this new Lax pair can be utilized again to generate second modified systems.

## 2. Outline of the method

For a discrete integrable system the Lax pair can be written as

$$
\begin{align*}
F_{n+1} & =L_{n}(t, \lambda) F_{n} \\
\frac{\mathrm{~d} F_{n}}{\mathrm{~d} t} & =V_{n}(t, \lambda) F_{n} \tag{1}
\end{align*}
$$

The compatibility between these leads to

$$
\begin{equation*}
\frac{\mathrm{d} L_{n}}{\mathrm{~d} t}+L_{n} V_{n}-V_{n+1} L_{n}=0 \tag{2}
\end{equation*}
$$

We assume that equation (1) admits a gauge transformation. Before adopting Dodd's procedure let us explain some notation that is essential for the ensuing calculation. Each of the matrices $F_{n}, L_{n}$ etc are given two indices as $F_{n}^{i, j}, L_{n}^{i, j}$, where the first superscript labels a solution of the Lax equation and the second indicates the intermediate equation at a particular stage of Gauss factorization, so that the generalized form of the Lax equation can be written as

$$
\begin{align*}
& F_{n+1}^{i, j}=L_{n}^{i, j} F_{n}^{i, j}  \tag{3}\\
& F_{n, t}^{i, j}=V_{n}^{i, j} F_{n}^{i, j} \tag{4}
\end{align*}
$$

In this notation $F_{n}^{0,0}$ denotes the solution of the starting Lax equation, $F_{n}^{0,1}$ denotes that of the first intermediate equation Lax equation and $F_{n}^{1,1}$ denotes another solution of the same intermediate equation connected to the previous one by an auto-Backlund transformation. In general $F_{n}^{i, j}$ is the $i$ th solution of the $j$ th intermediate Lax equation.

So we write the gauge transformation as

$$
F_{n}^{i+1, j}=T_{n}^{i, j} F_{n}^{i, j} .
$$

So from equations (3) and (4) we get

$$
\begin{equation*}
L_{n}^{i+1, j} T_{n}^{i, j}=T_{n+1}^{i, j} L_{n}^{i, j} \tag{5}
\end{equation*}
$$

and

$$
\begin{equation*}
V_{n}^{i+1, j} T_{n}^{i, j}=T_{n t}^{i, j}+V_{n}^{i, j} T_{n}^{i, j} \tag{6}
\end{equation*}
$$

We now assume as in [8] that $T_{n}^{i, j}$ has a Gauss decomposition which can be written as

$$
\begin{equation*}
T_{n}^{i, j}=\Delta_{n}^{-i, j} \Delta_{n}^{+i, j} \tag{7}
\end{equation*}
$$

where $\Delta_{n}^{+i, j}$ is upper unipotent and $\Delta_{n}^{-i, j}$ is lower triangular. So mimicking the continuous case we deduce that the equation to be satisfied by $\Delta_{n}^{-}$and $\Delta_{n}^{+}$is

$$
\begin{equation*}
L_{n}^{i, j+1} \Delta_{n}^{+i, j}=\Delta_{n+1}^{+i, j} L_{n}^{i, j} \tag{8}
\end{equation*}
$$

and if $\Delta_{n}^{+1, j}$ is non-singular we also get

$$
\begin{equation*}
\Delta_{n+1}^{-i, j} L_{n}^{i, j+1}=L_{n}^{i+1, j} \Delta_{n}^{-i, j} \tag{9}
\end{equation*}
$$

along with

$$
\begin{equation*}
V_{n}^{i, j+1} \Delta_{n}^{+i, j}=\Delta_{n}^{+i, j} V_{n}^{i, j}+\Delta_{n t}^{+i, j} \tag{10}
\end{equation*}
$$

Let us now consider the case of a discrete mKdV equation for which

$$
\begin{align*}
& L_{n}^{0,0}=\left[\begin{array}{cc}
\lambda & q_{n} \\
-q_{n} & 1 / \lambda
\end{array}\right]  \tag{11}\\
& V_{n}^{0,0}=\left[\begin{array}{cc}
\lambda^{2}+q_{n-1} q_{n} & q_{n} \lambda+q_{n-1} / \lambda \\
-q_{n-1} \lambda-q_{n} / \lambda & 1 / \lambda^{2}+q_{n-1} q_{n}
\end{array}\right] \tag{12}
\end{align*}
$$

whereas the equation is written as

$$
\begin{equation*}
q_{n t}=\left(1+q_{n}^{2}\right)\left(q_{n+1}-q_{n-1}\right) . \tag{13}
\end{equation*}
$$

Let us assume

$$
\Delta_{n}^{+0,0}=\left[\begin{array}{cc}
1 & a_{n}  \tag{14}\\
0 & 1
\end{array}\right] \quad \text { and } L_{n}^{0,1}=\left[\begin{array}{cc}
b_{n} & c_{n} \\
d_{n} & f_{n}
\end{array}\right]
$$

whence equation (8) yields

$$
\begin{align*}
& b_{n}=\lambda-a_{n+1} a_{n} \\
& b_{n} a_{n}+c_{n}=q_{n}+\frac{a_{n+1}}{\lambda} \\
& d_{n}=-q_{n}  \tag{15}\\
& d_{n} a_{n}+f_{n}=\frac{1}{\lambda} .
\end{align*}
$$

From these equations if we demand that $c_{n}=0$, we get

$$
\begin{equation*}
a_{n+1}=\frac{\lambda a_{n}-q_{n}}{1 / \lambda+a_{n} q_{n}} \quad \text { or } q_{n}=\frac{\lambda a_{n}-q_{n+1 / \lambda}}{1+a_{n+1} a_{n}} \tag{16}
\end{equation*}
$$

whereas from equation (6) we deduce that $a_{n}$ satisfies

$$
\begin{equation*}
a_{n, t}=\frac{a_{n+1}-a_{n}\left(\lambda^{2}+1 / \lambda^{2}\right)-a_{n}^{3}}{1+a_{n+1} a_{n}}+\frac{a_{n}^{3}+a_{n}\left(\lambda^{2}+1 / \lambda^{2}\right)-a_{n-1}}{1+a_{n} a_{n-1}} \ldots \tag{17}
\end{equation*}
$$

It may be noted that equations (16) and (17) were deduced from the discrete symmetry considerations and Riccati-type equations in [6]. An interesting and important aspect of the present methodology is that in the course of our calculation we have deduced the Lax pair for the modified mKdV equation (17); these are given by $L_{n}^{0,1}$, and $V_{n}^{0,1}$ respectively. Written explicitly these are

$$
\begin{align*}
L_{n}^{0,1} & =\frac{1}{1+a_{n} a_{n+1}}\left[\begin{array}{cc}
\lambda+\frac{a_{n+1}^{2}}{\lambda} & 0 \\
\frac{a_{n+1}}{\lambda}-\lambda a_{n} & \frac{1}{\lambda}+\lambda a_{n}^{2}
\end{array}\right]  \tag{18}\\
V_{n}^{0,1} & =\left[\begin{array}{cc}
z_{n} & 0 \\
x_{n} & y_{n}
\end{array}\right] \tag{19}
\end{align*}
$$

where $z_{n}, x_{n}, y_{n}$ are as follows

$$
\begin{aligned}
& z_{n}=\frac{1}{1+a_{n} a_{n-1}}\left[\lambda^{2}+a_{n}^{2}+\frac{\left(\lambda a_{n}-\frac{a_{n+1}}{\lambda}\right)\left(\lambda a_{n-1}-\frac{2 a_{n}}{\lambda}-\frac{a_{n}^{2} a_{n-1}}{\lambda}\right)}{\left(1+a_{n} a_{n-1}\right)}\right] \\
& x_{n}=\frac{\left(\lambda^{2} a_{n-1}+\lambda^{2} a_{n} a_{n-1} a_{n+1}-a_{n}^{2} a_{n+1}-\frac{a_{n+1}}{\lambda^{2}}+a_{n}^{2} a_{n-1}-\frac{a_{n} a_{n+1} a_{n-1}}{\lambda^{2}}\right)}{\left(1+a_{n} a_{n-1}\right)\left(1+a_{n} a_{n+1}\right)} \\
& y_{n}=\left\{\left(1+a_{n} a_{n-1}+a_{n} a_{n+1}\right) \lambda^{-2}+a_{n}^{3}\left(a_{n-1}-a_{n+1}\right)+2 \lambda^{2} a_{n-1} a_{n}\left(1+a_{n} a_{n+1}\right)\right. \\
& \left.-\left(a_{n}^{2}+a_{n-1} a_{n+1}\right)\right\} /\left(1+a_{n} a_{n-1}\right)\left(1+a_{n} a_{n+1}\right) .
\end{aligned}
$$

Hence by employing the Gauss factorization technique it is possible to deduce not only the Miura map and the modified equation but also the Lax pair associated with the new equation.

## 3. Other discrete equations

Let us consider now a discrete sine-Gordon equation written as

$$
\begin{equation*}
q_{n+1, t}-q_{n, t}=2 h\left(\sin q_{n+1}+\sin q_{n}\right) \tag{20}
\end{equation*}
$$

for which

$$
L_{n}^{0,0}=\left[\begin{array}{cc}
\alpha_{n} & \beta_{n} \\
r_{n} & n
\end{array}\right]
$$

where

$$
\begin{align*}
\alpha_{n} & =\frac{\lambda}{2}\left(1+\cos q_{n}\right)+\frac{1}{2 \lambda}\left(1-\cos q_{n}\right) \\
\beta_{n} & =\frac{\lambda}{2} \sin q_{n}-\frac{1}{2 \lambda} \sin q_{n}  \tag{21}\\
r_{n} & =\frac{\lambda}{2} \sin q_{n}-\frac{1}{2 \lambda} \sin q_{n} \\
n & =\frac{\lambda}{2}\left(1-\cos q_{n}\right)+\frac{1}{2 \lambda}\left(1+\cos q_{n}\right)
\end{align*}
$$

along with

$$
V_{n}^{0,0}=\left[\begin{array}{cc}
\frac{h\left(\lambda^{2}+1\right)}{\lambda^{2}-1} & -\omega_{n}  \tag{22}\\
\omega_{n} & \frac{h\left(\lambda^{2}+1\right)}{1-\lambda^{2}}
\end{array}\right] \omega_{n}=-2 h \sum_{j=n}^{\infty} \sin q .
$$

Following the same procedure as that used above one can immediately obtain

$$
\begin{align*}
& q_{n}=2 \tan ^{-1} \frac{-E_{n} \pm\left\{E_{n}^{2}-4\left(f_{n+1} \lambda-f_{n} / \lambda\right)\left(f_{n+1} / \lambda-f_{n} \lambda\right)\right\}^{1 / 2}}{2\left(f_{n+1}-f_{n} / \lambda\right)}  \tag{23}\\
& E_{n}=\left(1-U_{n} U_{n+1}\right)\left(\lambda-\frac{1}{\lambda}\right)
\end{align*}
$$

whereas the modified discrete sine-Gordon equation reads as

$$
\begin{equation*}
f_{n, t}=2 h \frac{\lambda^{2}+1}{\lambda^{2}-1} f_{n}+\left(1+f_{n}^{2}\right) \omega_{n} \tag{24}
\end{equation*}
$$

$\omega_{n}$, given in equation (22), can be easily expressed as a function of $f_{n}, f_{n+1}$ etc via the Miura map (23). It may be noted that equation (23) was deduced in [6], and we have kept our notation very close to that of [6] for comparison. However, the modified discrete sine-Gordon equation given in (24) was not given there. Also in principle we know the Lax pair of this new equation which are $L_{n}^{0,1} V_{n}^{0,1}$.

For the case of the discrete KdV equation

$$
\begin{equation*}
q_{n, t}=\exp \left(-q_{n-1}\right)-\exp \left(-q_{n+1}\right) \tag{25}
\end{equation*}
$$

we note that

$$
L_{n}^{0,0}=\left[\begin{array}{cc}
\lambda \exp q_{n} & \left(\exp q_{n-1}\right) / \lambda  \tag{26}\\
\lambda \exp q_{n} & \exp q_{n} / \lambda
\end{array}\right]
$$

So if we assume that $\Delta_{n}^{+0,0}$ and $L_{n}^{0,1}$ have the form given in (14) and demand again that $c_{n}=0$ we at once obtain

$$
\begin{equation*}
q_{n}=-\log \left[1+f_{n+1}-\lambda^{2} f_{n} f_{n+1}-\lambda^{2} f_{n}\right] \tag{27}
\end{equation*}
$$

It may be noted that this Miura map is much simpler in form compared to that given in [6].

## 4. Repeated Miura map

Consider now the case of the Volterra equation written as

$$
\begin{equation*}
\frac{\mathrm{d} u_{n}}{\mathrm{~d} t}=\left(u_{n+1}-u_{n-1}\right) u_{n} . \tag{27}
\end{equation*}
$$

In the present case

$$
L_{n}^{0,0}=\left[\begin{array}{cc}
\lambda & u_{n}  \tag{28}\\
-1 & 0
\end{array}\right] \quad \text { and } \quad V_{n}^{0,0}=\left[\begin{array}{cc}
u_{n} & \lambda u_{n} \\
-\lambda & -\lambda^{2}+u_{n-1}
\end{array}\right] .
$$

Set

$$
L_{n}^{0,1}=\left[\begin{array}{cc}
b_{n} & c_{n}  \tag{29}\\
d_{n} & f_{n}
\end{array}\right] \quad \text { and } \quad \Delta_{n}^{+0,0}=\left[\begin{array}{cc}
1 & a_{n} \\
0 & 1
\end{array}\right]
$$

so that equation (8) leads to

$$
\begin{align*}
b_{n} & =\lambda-a_{n+1} \\
c_{n} & =u_{n}-a_{n} \lambda+a_{n} a_{n+1}  \tag{30}\\
d_{n} & =-1 \\
f_{n} & =a_{n} .
\end{align*}
$$

If we set $c_{n}=0$, we get

$$
\begin{equation*}
u_{n}=\lambda a_{n}-a_{n} a_{n+1} \tag{31}
\end{equation*}
$$

which is the required Miura map. To obtain the modified equation, assume

$$
V_{n}^{0,1}=\left[\begin{array}{ll}
v_{n} & r_{n} \\
s_{n} & t_{n}
\end{array}\right]
$$

which, when substituted into equation (10), leads to

$$
\begin{align*}
& u_{n}=u_{n}-\lambda a_{n}=-a_{n} a_{n+1} \\
& r_{n}=a_{n, t}+\lambda u_{n}+\operatorname{an}\left(u_{n-1}-\lambda^{2}\right)  \tag{32}\\
& s_{n}=-\lambda \\
& t_{n}=-\lambda^{2}+u_{n-1}+\lambda a_{n} .
\end{align*}
$$

Demanding that $r_{n}=0$ we get the modified equation

$$
\begin{equation*}
a_{n, t}=a_{n}\left(\lambda-a_{n}\right)\left(a_{n+1}-a_{n-1}\right) \tag{33}
\end{equation*}
$$

for which the Lax are can be written as

$$
\begin{align*}
& L_{n}^{0,1}=\left[\begin{array}{cc}
\lambda-a_{n+1} & 0 \\
-1 & a_{n}
\end{array}\right] \\
& V_{n}^{0,1}=\left[\begin{array}{cc}
-a_{n} a_{n+1} & 0 \\
-\lambda & \left(\lambda-a_{n}\right)\left(a_{n-1}-\lambda\right)
\end{array}\right] . \tag{34}
\end{align*}
$$

We now demonstrate a new aspect of the present method in which one can start with equation (34), and apply the Gauss decomposition technique to obtain a second Miura map and a new integrable equation.

Assume as before that

$$
\Delta_{n}^{+0,1}=\left[\begin{array}{cc}
1 & \theta_{n} \\
0 & 1
\end{array}\right] \quad \text { and } \quad L_{n}^{0,2}=\left[\begin{array}{cc}
e_{n} & f_{n} \\
g_{n} & h_{n}
\end{array}\right]
$$

and substitute these in (8), so that

$$
\begin{aligned}
& e_{n}=\lambda-a_{n+1}-\theta_{n+1} \\
& f_{n}=\theta_{n+1} a_{n}-\lambda \theta_{n}+\theta_{n} a_{n+1}+\theta_{n+1} \\
& g_{n}=-1 \\
& h_{n}=a_{n}+\theta_{n} .
\end{aligned}
$$

Choosing $f_{n}$ to be zero yields

$$
\begin{equation*}
a_{n+1}=\lambda-\frac{\theta_{n+1}}{\theta_{n}} a_{n}-\theta_{n+1} \tag{35}
\end{equation*}
$$

on the other hand equation (10) yields

$$
\begin{equation*}
\theta_{n, t}+\theta_{n}\left\{\left(\lambda-a_{n}\right)\left(a_{n-1}-\lambda\right)+a_{n} a_{n+1}+\lambda \theta_{n}\right\}=0 . \tag{36}
\end{equation*}
$$

One should note that the Miura map (35) nor equations (35) or equation (36) are not explicit in nature, due to the mixing of old and new variables. To remedy this we introduce a new variable

$$
\begin{equation*}
\sigma_{n}=\frac{a_{n}}{\theta_{n}} \tag{37}
\end{equation*}
$$

whence (35) gives

$$
\begin{equation*}
\theta_{n+1}=\frac{\lambda}{1+\sigma_{n}+\sigma_{n+1}} \tag{38}
\end{equation*}
$$

and equation (36) leads to

$$
\begin{equation*}
\sigma_{n, t}=\lambda^{2}\left\{\frac{\sigma_{n}\left(1+\sigma_{n}\right)\left(\sigma_{n+1}-\sigma_{n-1}\right)}{\left(1+\sigma_{n}+\sigma_{n+1}\right)\left(1+\sigma_{n-1}+\sigma_{n}\right)}\right\} \tag{39}
\end{equation*}
$$

which is the second Miura-transformed Volterra equation and (38) is the corresponding map.

## 5. Discussion

Our analysis clearly shows that the Gauss decomposition approach as used in the continuous case can easily be extended to the discrete system and can form an alternative systematic approach. While the present approach can reproduce many of the results obtained by other methodologies, it has the potential to yielding new information about the modified systems. In principle the process of factorization can be repeated many times, though the corresponding results may be algebraically complicated.

## Acknowledgment

One of the authors (SP) is grateful to CSIR (Government of India) for a fellowship.

## References

[1] Wahlquist H D and Estabrook F B 1973 Phys. Rev. Lett. 311386
Lamb G L Jr 19- Elements of Soliton Theory (Chichester: Wiley)
[2] Wadati M 1974 J. Phys. Soc. Japan 361498
Chowdhury A Roy 1984 Phys. Scr. 29289
[3] Wadati M, Sanuki H and Konno K 1975 Prog. Theor. Phys. 53419
[4] Noriko S 1985 J. Phys. Soc. Japan 543261
Leznov A N 19- Preprint IHEP 92-87 (Protvino)
[5] Chowdhury A Roy and Mahato G 1983 Lett. Math. Phys. 7313
[6] Yang X and Schmid R 1994 Phys. Lett. 195A 63
[7] Chen H H 1974 Phys. Rev. Lett. 33925
[8] Dodd R K 1988 J. Phys. A: Math. Gen. 21931

